





set obs 150
gen t= n

generat Yciclse = 50 + 30*=sin(0.8*t) + 1.5*t
replace Yciclse 50 + 30*=sin(0.8*t) + 1.5*t + (-60-3*(t-101)) if t=100

set seed 1

gen errr=rnormal (0, 5)

generat Ycicl = 50 + 30*¥sin(0.8*t) + .5*t 4+ errr

replace Ycicl = 50 + 30*sin(0.8*t) + 1.5*t + errr + (—-0-3*(t-101)) if t>100
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Yt sin término de error










itsa Ycicl, trperiod(101l) posttrend replace ///

Modelo ITSA en Yt
Intervention starts: 101

T T
50 75 100
tiempo (t)

@® Actual — Predicted

Regression with Newey-West standard errors - lag(0)
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gen Yitsal= s Ycicl pred
tempvar x
tempvar =t

gen x'= x101

) "= 75
gen =xt'= x tl01 fiormon ()

I
100

replace x101=0 ErYiix=1]
replace x tl01=0 - "

E[Yt[x=0]

predict yitsaO, xb

gen 1mpal = Yitsal







Sample spectral density function
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sca frec=0.8/(2* pi)
pergram Ycicl, xline( =frec',lwidth(thin) lpattern(shortdash)) ///
name (spectr, replace) graphregion(color (white)) ///
legend (off) vylabel (,nogrid) msize (small)
graph export "S$F\Espectro.png", as(png) replace width(1900) height (1000)
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itsa tnd0, trperiod(101) posttrend replace ///

figure(tit ("Modelo ITSA en la tendencia del filtro HE",
size (medium)) graphregion(ceclor(white)) name(itsa yl, replace) ///

time wvariable:

Eegression with Newey-West standard errors
maximum lag: 0

vtit("Serie Yt")
xtit("tiempo (t)")

delta:

t, 1 to 150
1 unit

/17

ylabel (0 (50) 250 ,nogrid) ///

xlabel (0 (25)150,nogrid) )

Number of obs
F({ 3,
Prob > F

148)

150
12239.85
0.0000

Coef.

Newey—West

S5td. Err.

[95% Conf.

Interval]

1.396186
—-45.53878
-3.1680186

55.98607

.0312741
2.666226
0574641
1.079805

1.334378
-50.80816
-3.281585

53.852

1.457995
—-40.26939
-3.054447

58.12014
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